Data preparation

datal<-read.csv("C:/Users/.../data.csv",header = TRUE)

keeps <- ¢("Suicide", "inter_dom", "TCC","FormalHelp","InformalHelp")
datal <- datal[keeps]

datal<-na.omit(datal)

library(bayesvl)
library(ggplot2)
library(cowplot)

Model 1

modell<-bayesvl()
modell<-bvl_addNode(modell,"Suicide","binom")
modell<-bvl_addNode(modell,"inter_dom","binom")
modell<-bvl_addNode(modell,"TCC","norm")

modell<-bvl_addNode(modell,"TCC inter_dom","trans")

modell<-bvl_addArc(modell,"inter_dom","TCC_inter_dom","*")
modell<-bvl_addArc(modell,"TCC","TCC_inter_dom","*")

modell<-bvl_addArc(modell,"TCC","Suicide","slope")
modell<-bvl_addArc(modell,"TCC inter_dom","Suicide","slope")

bvl_bnPlot(modell)

# Generate Stan code

model_stringl <- bvl_model2Stan(model1)
cat(model_stringl)

# Model Fit

modell<-bvl_modelFit(modell, datal, warmup = 2000, iter = 5000, chains = 4,cores = 4)

# Figure 2 visualization

modell_figurel<-bvl_plotTrace(modell)

modell_figure2<-
bvl_plotintervals(modell,c("b_TCC_Suicide","b_TCC_inter_dom_Suicide"))+theme_bw()
plot_grid(modell_figure2, modell_figurel,nrow = 2, labels = ¢('A’, 'B'"))



Model 2

model2<-bayesvl()
model2<-bvl_addNode(model2,"InformalHelp","norm"
model2<-bvl_addNode(model2,"TCC","norm")
model2<-bvl_addNode(model2,"inter_dom","binom")

model2<-bvl_addNode(model2,"TCC inter_dom","trans")

model2<-bvl_addArc(model2,"inter_dom","TCC_inter_dom","*")
model2<-bvl_addArc(model2,"TCC","TCC_inter_dom","*")

model2<-bvl_addArc(model2,"TCC","InformalHelp","slope")
model2<-bvl_addArc(model2,"TCC_inter_dom","InformalHelp","slope")

bvl_bnPlot(model2)

# Generate Stan code

model_string2 <- bvl_model2Stan(model2)
cat(model_string2)

# Model Fit

model2<-bvl_modelFit(model2, datal, warmup = 2000, iter = 5000, chains = 4,cores = 4)

# Figure 3 visualization

model2_figurel<-bvl_plotTrace(model2)

model2_figure2<-
bvl_plotintervals(model2,c("b_TCC_InformalHelp","b_TCC_inter_dom_InformalHelp"))+theme_bw()
plot_grid(model2_figure2, model2_figurel,nrow = 2, labels = ¢('A’, 'B'))

Model 3

model3<-bayesvl()
model3<-bvl_addNode(model3,"FormalHelp","norm")
model3<-bvl_addNode(model3,"TCC","norm")
model3<-bvl_addNode(model3,"inter_dom","binom")

model3<-bvl_addNode(model3,"TCC inter_dom","trans")

model3<-bvl_addArc(model3,"inter_dom","TCC_inter_dom","*")
model3<-bvl_addArc(model3,"TCC","TCC_inter_dom","*")



model3<-bvl_addArc(model3,"TCC","FormalHelp","slope")
model3<-bvl_addArc(model3,"TCC_inter_dom","FormalHelp","slope")

bvl_bnPlot(model3)

# Generate Stan code

model_string3 <- bvl_model2Stan(model3)
cat(model_string2)

# Model Fit

model3<-bvl_modelFit(model3, datal, warmup = 2000, iter = 5000, chains = 4,cores = 4)

# Figure 4 visualization

model3_figurel<-bvl_plotTrace(model3)

model3_figure2<-
bvl_plotintervals(model3,c("b_TCC_FormalHelp","b_TCC_inter_dom_FormalHelp"))+theme_bw()
plot_grid(model3_figure2, model3_figurel,nrow = 2, labels = ¢('A’, 'B'))

Model 4
# Model construction

model4<-bayesvl()
model4<-bvl_addNode(model4,"Suicide","binom")

model4<-bvl_addNode(model4,"FormalHelp","norm")

model4<-bvl_addNode(model4,"InformalHelp","norm"

model4<-bvl_addArc(model4,"FormalHelp","Suicide","slope")

model4<-bvl_addArc(model4,"InformalHelp","Suicide","slope")

bvl_bnPlot(model4)

# Generate Stan code

model_string4 <- bvl_model2Stan(model4)
cat(model_string4)

# Model Fit



Model4<-bvl_modelFit(model4, datal, warmup = 2000, iter = 5000, chains = 4,cores = 4)

# Figure 5 visualization

model4_figurel<-bvl_plotTrace(model4)

model4_figure2<-
bvl_plotintervals(model4,c("b_FormalHelp_Suicide","b_InformalHelp_Suicide"))+theme_bw()
plot_grid(modeld_figure2, model4_figurel,nrow = 2, labels = c('A’, 'B"))



